Had for erzea M3 fore nigrdft /et g @ quizg (meee) fE9 det 33T Af eudel J 31
g+t /et ITHT &7 gUT3g HiemT Ar<ar|

33 mre 8fdar Jafen € v iz (uree 1, Rans 2)

1. wH figis
1.1. IrIat &% gdrad w3 faauy feegg

HHETS 3 A3 aradt € &% MU fan3 € A9 ug'=t '3 garad! &7, eiaerdt a7 w3 fagul gu & feeag
FI&T ITAET J| T &7 feauy feeara saaT Ardnt Hirgret w3 89T @ mifaards 8det € =t Hoss
M3 ITIUdE HIHTETT €T HI3SYTS I1d1 I ITdTeT J1 IHd 29ar € 831 € Yt v fois mHafu3
3T AreT grdter 31

1.2. Y@ M3 U'gedn3T

ferfas ggar grdter J w3 Aune 3d1d 375 ERe grdter d w3 fegst € 2I< arda § Gusey Iar8e grdte
I8\ G3uret »3 Rere &t farH w3 HuHT € Mag® Areddt Heh T Jds &, §fe3 fagresti mi3 ey
YareT? f3mrg 398 9Tt I6| Bus &M »ifgaras edet €t Higel €8 it e et egd s fd3 €
feeret 79 <t Arcardt Haeh gaat Irdtet 3, fagst ardt at @ G3ume e Afer J1 araat € &7 fan3
T AT U '3 Bf93 Areardt Haeh Faat ardtet J1 eetdr® yura medt At miardt mdt, T, mes
wriEe dar 3t srdtet O w3 33y UG et st It wrdtet e smar o3 Age IR i fegaa 3
ufgst ygrerer ags gt Uaditt nuastaent grdtent g 31+ fea fami € G3uret »i3 Reret fegarg
3BT S AT A i Awg fedt 7t 9, reg <u 3 U wargay J¢t 9Tt 9 w3 Autgs 39 '3 G3ute <t
Afes3T 3 foR &% 73 AuHT € 318-5T8 Irdd @ mafag §ert, Arcardt, AHdE3= w3 mag< '3 fegrg
Jae JT arad €t Yerets '3 mrurfa3 det grdtet 9| HiaTet g grdter J g ©9 araat & i3 995 fa HAETeT
3 B, Adt i3 Gusey Aredrdt HaehT 93T wgdt di

1.3. f&St wreardt w3 AagasT

s fa rofesT &t i AT I w3 miruet e &t &3t mfgdt (Feanst) & faosa gsee set yg<t
gt II& THS Aredrdl, JHBIR »3 fene™ feafiz 398 et Hger »3 gfed! araat €t Hee 995
et Agarg, fsumia ARgTet w3 397 mefus fasuraat € &% tHS 3 aH adaT IdteT J1 yu3arg ot Areard]




™3 AHGE § Turge &t fommud &3t fifim w3 wreardt €t feeme v Y9 3 wrer grdter J, v agd
grdtet dI

1.4. AgTet w3 wifgaras Bt e raurd nedt fiHera »reas

HAETE w3 BUst € mfgaad3 eet & mud aradt € faa3d a3 fiee dH 39 &t w3 fedt yusarg rafmr
3 e Fye Bt fiHeg J &t wargad Je grdter JI ARt @ i@ miftgras evet w3 S+ fug €
A yergret @t graeredhnt set 2t e »3 Aerged Je grdler J| Se-g< €t faaH »i3 ardat @8 Y
39 '3 e it aret Areardt € mrug '3, HHERT & grdter J fa G9 araat g fan S3ute, AsTa 7 Aer
UHIH d96 3 Ufgst araat &t fie3t mHgesT= w3 31 €7 HsTde 9d6| Ae™e (U™H 9dd 89, 7 fHU argat
&% nigafafent gaer J) ydt 3gt i3 w3 var e grdter 31 Areret »3 89t € mifyara3 edet § fast
€ T19d 3 Ugd due o dfd ggat grdtet 31 7€ forn 3 ugdw &7 3T 7T Ha, Bt & watst seger grdter
J fg At Yarerer »i3 mifd feeret 378 faues B¢t 7t G3uTe, ASTT Af AeT & mHEdTg 996 et nfegat
yfafanret rErfUz 96| AHET=! € Aete »3 fHE 3191 3], Bust € miftaras evct &t fHasars e efar
graderd Al fileTa »egs, Yu3dTa’ € 578 fagul feeard B¢t G3na3 996 st M3 fd3t € ead 3
g9< Bl fanrg iz Arer grdter

1.5. G8 w3 gJ<33 € feau araa HuFtmt <t nafumr

AHETRT 9% gradt €t 7T gaHi, ga3t w3 for 39T dhwif Ig St Hudht €t it €arm3 B g at <
forfaas ars It a9 =, fan €9 08, eabudar 7 39 91%3 =93 3 I <t ArHs 3, Afus Areardt,
fewzge m3 h Yfafenrat marfuz Jehut ardftent o)

1.6. YUIITd 327 M3 JUI3T € HAiT

AT 3w graat € i8St w3 forft wreardt €t nafunr 3¢t 8193 fewsde w3 Aaftm Yfafamret marfuz
At It Irdftentt T&| feast Yfafomret feg A9 &g fearst &t urser It gt I w3y a9d Bast
Sent 3 fonfez gaar wrdter J, fagat B¢t e fed3zg i3 7 Haer J, BH €73 yfafon it 7 et g,
HifeT, 2™ m3 yare off3m 77 maer 1 Yfafanret f&g 327 AiST 995 979 B3 dfde Bet »3 393 HY
Y3 36 BEt n3 /71 9183 71 diddaa! Bal &8 fed 39 o3 7t yfafent i3 32 & fhe@e &t araat € Jat
3 & AdtaTg 3T Arer grdfter di

1.7. fafest feua@sr w3 Ay



HETS w3 fig 6193 92, 89a’ € mifuaa3 e+et & grdter J fa 89 arudt & emie J9s, fiarfest 995,
IS Hare et €93 Arus Haehr gas, 7 udaddr, fealy, A=reed, AN MEA™S M3 IHS IS miAd
HUST & aradt '3 meEfas grar3, 2dt 7 893 &df uGer ardten|

1.8. yIFdazT
HAETE & »u graat g feama3g gt grdiet J fa G mmrat &7, §fe3 »3 ufast yare ot szt '3
G3uret i3 Haget &t 91, 35T w3 fig 6f3 3=, 9ot 99 Ha<l



